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' iglt Quecgy:
%‘?{’;wer any €18 i tatmnx from the following as directed : 1x8=§
W ' % HIE‘H' E{H ﬁ s

We hear a CI’EI-L‘E\IO Whes . .

(a) rti(‘u!arl\' mn d[-\. h.n We take off our gynthet;c cloths or sweater
__#.—--—--""pa - © Pason. 1t happens because of
(Fill in the blankg)

1

fen gi T e siieg i A1 bRBE At R
o oS, m%%um|amquw

i i—— | =

(T T 94 7=
hematical exprecc: : .
() Tgi crlmi’; e EXpression given below is known as
p ple. (Fill in the blank)
i1
Fl = qI % fIr

472'50 (=2 ?"11 ]

oeTe fr SO e 3 Aite I w1 T
(0T 312 9 79)

\

: Q
Two resistors of é&lal values are connected in parallel. Which of the

following 0 ﬁ@s is correct if the two ends of the combination are
connected gg%ss the terminals of a battm'}f ? : 1
1) i =§? (currents flowing through the resistors)

(@) V= V, (potential differences across cach resistors)

(i1i} Both of the abové are correct.

T R ofpogy srqraiarold 7YE 72 W21 A STeSTIR. G 751 By
OR %R (Reazons @ 4 B (0T T QWO AL 9% 192

(i) il = :'2 (@ﬂﬁ‘i @ﬁ m‘@?ﬁt m_@ ﬁ‘iﬁ)

() V, = V, (@ e 7g (1A IeATSH ) |
1 S Ty g |
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ine in between two pa;.
(d) The force acting in be Parallg . ,
current of 1A through each of them an Ireg of length 10?” carrying
¢ Placed 1 apart in vacuum

will be : (Fill in the blank)
1

P NETTS AT L TILNE opgy 00 i, — Bl 1A 7
fge eRIfEe Cgral R TOEH WS fay, .
L 921 g _

(1 1% 73 #)

E,( The most important prediction tg emerge from Maxwell’s equations
) , :

(i)  eddv current

(if)  electromagnetic waves

(i) displacement current (Choose tlie. correct option)
CIERER FNI6Fo[@ BT (ZR OibiRers maad) SRAAIT 26
(i) DIRAI 2RZ
(i) Re pEFR w9
(i) R 2T g\& (5% Tews! qiR Shea)

then the refle
Y
(i) x-y and y-z plane

M A plane mirror li Q’on x-y_plane. If the incident ray is on y-z plane
rayand the normal will lie on 1

(i) y-z and z-x plane
(ifi) z-x and x-y plane (Choose the correct option)
G R AA -y o ozl MO I 7. - srwwers e

ors afowfe s o wfeers AR
i) x-y ¥ y-z AAGTO

(i) y-z TF z-x AAGTO
i) z-x AT x-y TS (% ey a1 Bea)
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A~

' is an :
Muage | OPtical Phenomenon related to 1
(i) scattermp nene

()

33T PHYS

. l 1 Yy
(l, t“tr.l llliklndl ]-{‘”l' [
Clon

g total intep,
( ! Hiraction (Choose the correct optigy,

L IEC C S
w2iod T Qivy Sy AfqqGal wWE 2
0 R Tt

(i) TR i s wfvo
(i) 4 TR 2fosmarirs s (3% el A% 5o

‘o and 4. be the w -
If 4, and 7, ffJG the Wavelength of de Broglie waves for a proton ar
an alpha particle then which of the following is correct ? |
W 2, W A, TG 21T s 451 AT S g7 s o o
(S8 TS GRE o) wm 2

(I) /gup - 110_

(i) A, > 2,

(tii) A, <2, N (Choose the correct option)
g\@ (&% TeIr e e
')

\Q‘§h2£
The term g = 02 is called 1
@ xme '

(i)  impact parameter
(i)  Bohr'radius
Wi activity

(Choose the correct option)

2
ag =25 yfepres ol

rme?
@) WS epe
i) T oyg

(ifi) g (a TG AR Terear)
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_ : n .
\—5%/ The space-charge region o both Sideg of ton is know
¢ ‘”‘..'” “.111(- - ‘N as

(i) cut-off region 1

(ii) active region

7i) depletion region |
ﬁ”} €piet 6 (¢ hoose the correcl option)
9ol p-n TR YAl ARSI dlel yopga cal@ll 27

(i) TIO-SF SR
(i) &Y e
(i) = A e o (o Gewl! A ST

C (diamond), Si and Ge, then which of the following is correct ?
;

I E., Eg; W% Eg, @ C (1), Siw Ge 9(CB @iE VB I T <&
SERIE T (OrS T (FINC0 AT w7 399
(i) E.>Eg>Eg,

(ii) Eq<Eg <Eg,
(Choose the correct option)

(9% Tl AR Tlersn)
2x10=20

(i) E.>Eg = G\@@

S

N3
| X . .
2. Answer any ten @@sﬁons from the following as directed :

i AR RCIET b e e R

(a) M What-is the SI unit of electric field ? Write an alternate unit of
it if any. 1+1=2
o1 oafos e o @ @7 TSR Q@I 3 w90

izl ferdll |
OR / @¥

1] he force between tWO 227k ged spheres having
W S;i?;iast?)ft +el>< 10-7C and -1* 1077C placed 30 ¢ apart in air.

1d.
51 PHYS [5] Con
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Y TS 30 01 g gramt +1x 1077 C T -1 107 C STy
ol 7 s (aypeqasg wiere {4l 96 e 40

® (@) Name the reo forces with their nature acting between ty,
protons. Yax4=9

fﬁ?ﬁ’@m} WE® fgyy el Qe %9 IR FZe4 'if‘]‘fﬁ (ﬁ ‘f';ﬁ) faiwr |
OR / @99/

0( Find out the incorrect options from the following : 1+1=2
(A) Inside a conductor, electrostatic field can never be zero,

(B) At the surface of a charged conductor, electrostatic field
must be normal to the surface at every point.

(C) The interior of a conductor can have excess charge in the
static situation.

TS MRIPTEIPRl Son ARN@es! Fog =) ¢
(A) R wESiore FRfetamems (was TN @foats =) 23 (TRTR |

(B) WIfEe ARAR o 93 i Rrpres Ffeamies cwraw
ATSIE AT |

(C) Wﬁ%ﬁ AU SBelNS Sfee Sk ARY <HiE |
. PO _ -
(c) (i) State K@off s laws in current electricity. 2
N )
aaﬁ@w T DIbwe SJaraen! v |
OR / @941

1) Name the electrical device which is similar to one use of
potentiometer. What does the following expression mean ?
1+1=2

e(l)=dl

ﬂtﬁmﬁm«amﬁmmwmmﬁawm
ERE AW Bt | e ePeRRIR B it
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(d) (i) Establish the expression fo,

: |]"]'-. .
flowing through the Fesistorg f"l cither 1 '
{, and R, respectively and

“inf m:.d total current is |

2

or I, which are
connected in parallel to 4 cell o
(ie. I, +1,).

Bl (IR IS FGH oy 5,
s waifze RS S 1 v | |
ST 1, a1 1, T AR Ay g

qil (AAd GRS R4

W upy e | (wdie | +1,) %

OR / gz
~ 045 Match the following and rewig, . Vp x4 =7
eTe fua <z iR o fag

D A (@) =quBsin®

(2) F. b) =muv/gB
. o Idl x 7

3 . _Ho 7T

3 r <) ar 7

4) dB  « @) =q[EE)+DxB(F)]

N
(e) (i) Calculate ‘E& value of y, /47 and write its unit. Tia+1=2

N

po/@QWWﬂWWWQMM1

OR / @l

(i) A current of 0-40A is flowing through a coil of radius 8-0cm
and having 100 turns. Find the magnetic field at its centre. 2

100 ~ARE w1 8.0 ¢y AP 40 @"gﬁ'ﬂ’ AT 0-40 A R ez
v PR rars G1Fe ¢Rd HR =)

ssion for motional emf ag o _ Blv. Where the

( (@) Derive the expre eaning. X

symbols have their usual

: mE‘HYS [7 ] szfd-

) Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

ﬁgwmﬁﬁﬁmﬁm g:Blv'ﬂ'Wﬁ@WIﬂ”ﬁm
Tl e FHI%0% |

OR / gy
; urrent of g,
(W) A[li to {].Uﬂ:”' A s Howing in a coil. If the current suddenly
:ﬁ cheft'icit :1: 015 an average emf of 200V is induced. Calculate
e b . . :
1 Of self induction of the coil. 2

BTSN 404 Biyie sy 7 g 8 B 4 0415 7S 231

POAR TP wolieas faofy zsay

(8¢) The househ()lf;;ine VOI.tage of 220V is an value with a
peak voltage ot 31TV (Fiyp jyy gy blank). Establish anexpression relating
the terms P, V, and R, 1+1=2
WS IRTS [SF A7 freq 2201 tar T S ZHE
wwﬁmw (T 31% 73 7=7)1 P, V/, =i% R QIRE0E NGS5t
Feof Flow B9 |

() (i) A tank is filled with water to a height of 12-5cm. The apparent
depth of needledlying at the bottom of the tank is measured by

a nucrosco[()g‘%‘o be 94 cm. What is the refractive index of water ?

& 2
SEAIRNDI 105 0 THOITA SN SR I TR e o 4
A0 @G HiAre SIS NZE AT FITE SR 94 ooy ColRN % |

A efomice R
OR / &%

Draw 4 ray diagram to make someone understand how a virtual
and many times magnified image of an object is formed in a

“OMpoung microscope. 2
DBl Ay g gore (P THIG TR0 1S ooy Tt
5ifde /oGy W <51 IPaa it |
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“I'moedium 1 to denser medium
with velocities v, and v, and
") Where § and rare the angles

Y~ A plane wavefront is travelling frop, lighy
2 through the interface of mediumg ; iljnu

vou know well that sini/sinr=

of incidence and refraction. If n "o T
mediums then derive Snell’s law » be e refractive indices of the

2
G561 ©9H Eig Tﬂiﬂ‘ﬂ %ng YRS R Hz‘r--'””i'-jf."‘[[r’,?fﬁ v, Tl v, (A0siA
{ﬂﬁﬂ.q (R O COTMEA S gy (a1 sini/sinr= v /v,
TS {EF r e A (P i 3?\'}?12:31:1 (i< | 1 n, Yl n, elel AR
1 I T 23 AfSTNT 7y mi\ﬂiﬂﬂqi - :Fi&'xTIﬂ fasfa a1

) () The Lyman series is in the

. i region, but Paschen and
Brackett series are in the

1+1=2

E (Fill in the blanks)
(R (I weeaTe, 6@ A S &0
TR RIS SIS AT | (T 212 99 B91)

OR / G4t

(i)  Explain in brief the type of energy states of an electron above
E=0. | 2

E=0 9(3 Si&4a *if&< 51 3eahe Sfewww oFfeos e o3 [l

4
"~
() () Calculate the %@rgy equivalent of 1 kg of a substance.

0
1@@%@mﬁmw’am%ﬁﬁwﬂwaﬁn

region.

]

OR / %41

3{ Discuss conductor and insulator in terms of energy gap. 2
=f& #h TP 4= sifaa1d) oI SRR swidy R wicama

491
_ Using a p-n junction diode draw a circuit diagram of a half wave
rectifier showing input and output waveform, 1+1=2

ofr o SR W i 76T g o

&5l p-n GG TIHG IS et 9 S

TR TS TAofp e Ao O
EPHYS [9] cont?
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do you m..
() What Can ., I
is mathematird“ _l“' thermal equilibrium

o Oncentrahons ang

? How does the situation
ectron and hole
1+1=2

M\ presgsed in terms of el
: _ 5
Miringie carrier mnccntrahnn !

\ @3‘}:’1 o ol E
eI AR I i iaerg o3 wgie 2EREA AIE LA MG i

e I el 5,

3 (@ )

(it)

® ()

(11)

33T PHYS

Fle g v a4 Y

at is an ... . - | |
w:ment 4: LI“[“"“ dipole ? An electric dipole w1th dipole
mif 1 lL.J om i aligned at 30° with the direction of a
T & U el of ma]gnitude 5x 104 NC!. Calculate the

magmtudc of th&’ tm‘un_ 1+2=3

fags® 3'%?4*10“’cmhzr%ﬁﬁcﬂ@¢lﬁli‘5ﬂ04 NC =
R T (e ey qurars 300 (oI A @IR)

OR / &2at

Show that the energy stored in a charged capacitor is E = % CV-?.

where the symbols have their usual meaning. 3

| memmg@%mwﬁ%w% E:/zcvi’,ww

PO TH<icd T I )
QQ
3

What is a Wheatstone bridge? Establish the mathematical form
of it. 1+2=3

m?%ﬁs?wmﬁﬂﬁ@ﬂsﬁﬂWWI
| OR / @l

You have been given n resistors each of value R How will vou
combine them to get (1) maximum and (1) minimum effeciive
resistance 2 Mention the values in each case. Find the ratio of
Maximum o minimum values of resistance. Vax 4+1=3

[10]
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(oI R WWE nbl R gy
@Y PR (NI g "R ) e S (i) S T

3@ | I % 7w @m%?mﬁm CHIS (AR T T

Pl ety |

i Write a few lines on ¢
K(J inclination (i.c m-anw:iy i{rm of Magp notic declination, magnetic
U o [ & * 1 . .

| ¢ YIP), horig \| component, and vertical

CUI’HPUI‘IEHt- ntal comp 114+1V5=3
/2 2=

s pife, ffe (T, ey
7O GO S (NN faray

¢ %9[[:131 o TAA Torew-a faram el

OR / 993

(i) Two long and parallel straight conductors A and B are carrying
currents of 8:0A4 and 5-04 in the same direction."A and B are
separated by a distance of 4.0 ¢m, Calculate the force ona 10cm
portion of wire A. 3

A W% B #fRIE! 7OR Twh $01.8-0 A BiE 5-0A AR G e
sifete (272l A W B SRad quiad We" I94N 4-0cm | A
ARRIZTET 10 cm (M9 @Bl 9 @oiFs TR I6 o 7 Aol

41 |
S\‘QQ
(d) (i) Describ (jr’one experiment where generation of induced emf
can %@@early demonstrated. 3
=FE R biee 36 GO (AW S (@R R R 951
of S I F1

OR / 41
: , re of using eddy current in 1) magnetic

t e v one advantage © byl (1) magn
i - 2
furnace. _ )
7 o) CamenEre e e @ O W ST e, i (c)
ﬁﬁmﬂmmmmmmmm S L

£

|
'F oo fEw Al *
(111 Contd.
E 33T PHYS
Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

k

- entiON 01ie ;o
O‘{ (1) M e fenee between an AC generat

33T PHYS

I STAm of AC generator and indicate there (n) the
coil, (B) the Slip o ’ and (d) the carbon brasses.

Mg ¢ s g ),

8BS, { ) ”l( 1)(1(- 'I-|—4X1/2=3
nﬂﬁ qﬁ'dﬁ:ﬁ ?j"qn'q L@JQQ”LN? 4 kﬂm w NES] A LQ‘L?}' ‘?ﬁﬂ%ﬂ ‘@_Cﬁﬂ
=19 b, 2ar T 9o ofFmR B a 3l IS (1) Fee,
® B R (0 w1, e (1) o 3% BES |

Draw a neat diqe

OR / 593t

(ii) A lOI’Ig solenoid ha\;jng 15 turns per cm has a small IOOP of area
2 sg.cm PIaCL"d Inside the solenoid normal to its axis. If the
change of current i the solenoid is 2:0A in 0:1s, find the
induced enif in the loop. 3

2 om ® 15 A R et g Rowee 2 sq.om (RO T
@ﬁaﬁ@ﬁﬁmwm@mwm@ﬂﬁww
0-1s® 2RI “ARE 2-04 7, TleT PUFDIR fooge 4w

PETBS AT e s et fick w1
$
Wri , N .
rite the mirr &quatlon. Define magnification and find the
expression fo%@‘%gnification m from the mirror equation,

@$ 1+1+l=3

CIITIPR AR T raeirsl 41 | o= vfé@ﬂ fl =i (ot &\ Or
TP stfraey pd SPPRIPCH ey sy

The thresholg frequency for a certain metal js 3.3 x 1M Hz If a |3 h
of frequency § 10M 1z is incident on that particular me st

tal, calcyj
the cutoff voltage for Phnmclcrtric emission, ate

3
<Y req ARG groopmiess 3.3 % 10 Hz L IO @i g 5 o 104y
z

e O i = (g e 27 Eﬂif@'iﬁ*"mm fofms NI 3{1%?% ﬁw
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(¢ (i) The radius of the im“""mus{ ol
is 5-:3x10- 11 m. Calculate the “tron orbit of a hydrogen atom

. Fadi; 9 and n=3 orbits.
} {2 ) of np=2 an
Given, T, '(ﬂ /m){h /2 }2(4% /“_.j ) 241=3

FBG (T ALY WibiBwra 1. )
11 CI B & ju‘b"lﬂ {’r-"'I'L"Jll ,.T.J;{;j:f,1f1 "H[_I"I;’:
5:3x10 V' m B n=2 wy, -

F{iF SE— LR
elel &%

3} . z

) 3 qup qhrE A
firl g, 1, =(n /m){h [ 27y

_"]fr;.ufrz” J

OR / wogy

) What do you mean by radioactiye decay ? Mention the fypes

radioactive decay. 11/2+71 2=3

coafEH ARG orwet 6 o2 cowfpn fagpem AR SHE T

(i) () Draw a neat circuit diagram to show a Zener diode acting as &

DC voltage regulator. What should be the approxin_late voli.. ~_;__
rating of the diode used in relation to the required O;:.L1:*
voltage ? 2+1=2
(TAE TS @BiR DC SrHS @E0e (it I —«wh‘?@?—_fr
AR S T | (G ORISR STt s (A58 Wiehe ©T S

TS (F Tfher

§®
& OR / 9%
@Q
W 't@ tow lines on amny one of the following with purpose of
rite a : .

2+1=3
use :

(1) Light emitting diodes

(2) Ph()tovoltaic Jevices

s fran fageea 4 <1 CPRIR foret | e ST ST
D M$
|

[13] contd.
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4. (a)
)
33T PHYS

(1)

(i)

(1)

what do you

. : d{"l‘gl . -itance of
relation |y, stand by capacitar in an
the ™", Hwecy farad (F) Lnd }ﬁmfarad (pF)- Obtain

. . u
apac s AF C itor. Do YO
Pacity of 4 pnrnlh‘l plate air capac

. v oof a
CClric e tant effects on (-_apaaty © -
as importan 'l'f"/2+-%+l/2:3

expression for .
think that dig]
Condenser ?

L) .'.f-'f-:'\ G s , b

o O S0 oo soly s () S P e (pF)
‘5”&5& m TG:':'-?] Sy e - e e —r i p

- T34 NEye P qaE GG 44 G LI CA IR ﬁcfi]

- i (E_ e e e, § “ e L ,.r-

41 TS Sfaanfon ey sged ger oz 9E

SN ?

OR / g3y

R],.RZ and R; are thyee resistors. Parallel combination of R, and
Ry 1s conn}f;cted ‘0 Ry in series. If V be the potential difference
between the end points of the mixed combination, then show

—

that the total current flowing in the circuit-{s— o)

R, R, W% Rﬁ@%’i; (F | Z9 R, W% R, [RI4T WHI o971
W@awvga\%ﬁ (21T S 92 7@ R, I 370 (aTRTsirg
ﬂwm%@ﬁﬁ%ﬁmw%@mamﬁmmw
% ?81@ A3 (@ FEANTTS 21T Y Rge 29
V(R, + R;)
) R\R, + RiRy + RyRy

Derive the expression for magnetic field at a point on the ax;
‘ ) is

of a CIrCUlar current ]()(}P_ Also find the Indl'a',llL‘tiC fi@ld at th
e

centre of the loop. 4+1=5

(s (E . .
TRIT De — AR fotef faai |
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(c)

OR / &gy

9&1'2 Derive the following eXpregg;, for refractive index of the
material of the PrisSm, where Symbols have their usual

meaning :
_ Sfﬂ[(A + Dm )/2 ]
21~ sin[A/Q] B
The refractive index of glass iy, the form of a prism is unknown.

0
found to be 40°. Calculate the refractive index of the material of

the prism if the angle of prism js measured to be 60°. 3+2=5
forerw sifye LR SRR o fomy erpreriPICD! fefE w1, T
TS ALFONY(R oI Y 35 FfRs |

_sin[(A+D, )/2]

T inlA2]
aﬁ@ﬁﬂ%ﬂﬁ@ﬁw&ﬁmwmmﬁw%aﬁﬁ
a1 frew Rpife e g (ol oz 40° 1 Bt =S s aferre
s 91 Tce fae (@9 60°

(i) Discuss the phenomena of diffraction produced by a single slif
by drawing a.feat diagram. 1+4=5
3

aﬁﬁ@%ﬁﬁ&@m@ﬂ%@ﬁ@mﬂwm

A |

— 7 OR / &%

quivaient relation. Who discovered the
ss equivalent of 9x1013] energy. Does
rimental proof? 1+1+2+1=5
| TIED (it o i
ol T4 | ANESN R odireE 4

Write the mass-energy ¢
relation ? Calculate the mas
the relation have any €XP¢

A TAGATOH FIED!
9x10%] wfeR g T 7

.' '.l.: . - » . -—-.-r-—r-.-_
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